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Assumptions (1)


• Open World Assumption

 Given Abox A = { R(i , j), C(j) }

 Is i an instance of ∀R.C


• No, cannot be proven for A:

 UNSAT( A ∪ { (∃R. ¬C)(i) } ) does not hold

 Applying the tableau rules yields an open 

Abox

•  Could be proved if we added  

(≤ 1 r. T)(i) to A




Assumptions (2)


•  Unique name assumption

 Different individual names denote 

different domain objects

 Usually NOT adopted in DL and first-

order settings in general

• Domain closure assumption


 The set of individuals is finite

 NOT adopted in general


 Reduces first-order to propositional case





